
LIST OF SYMBOLS 

En = m.odulus of elasticity of com.ponent n, psi 

kn = wall ratio of com.ponent n, kn :: rn/ rn-l 

K = overall wall ratio of container, K :: rN/ r 0 

K" = wall ratio of inner part of ring-fluid-segm.ent container, K" = r3/ro 

N = the total num.ber of com.ponents in a container; N also denotes the outerm.ost 
com.ponent 

n = a specific com.ponent when num.bered from. inside out; i. e., n = 1, 2, ... , N 

p = bore pressure, psi 

P3 = fluid support pressure for the ring-fluid-segm.ent container, psi 

r n = outside radius of com.ponent n, inches 

rn-l = inside radius of com.ponent n, inches 

r 0 = bore radius of container, inches 

rN - . outer radius of container, inches 

S = shear stress, psi 

Sr = sem.irange in shear stress for a cycle of bore pressure, psi 

Sm. = m.ean shear stres s for a cycle of bore pressure, psi 

Sm.in = m.inim.um. shear stress during a cycle of bore pressure, psi 

Sm.ax = m.axim.um. shear stress during a cycle of bore pressure, psi 

a = design tensile stress of ductile steel, psi (a ~ ultim.ate tensile strength) 

a1 = design tensile stress of high-strength steel, psi (al -; ultim.ate tensile strength) 

(a>r = sem.irange in tensile stress for a cycle of bore pressure, psi 

(a)m. = m.ean tensile stress for a cycle of bore pressure, psi 

(a)m.in = m.inim.um. tensile stress during a cycle of bore pressure, psi 

(a)m.ax = m.axim.um. tensile stress during a cycle of bore pressure, psi 

a r = sem.irange stress param.eter for high- strength steel, ar :: (a)r/ al 

am. = m.ean stress param.eter for a high-strength steel, Ctzn:: (a)m./al 

a r = radial stress, psi 

ae = circum.ferential (hoop) stres s, psi 

az = axial (longitudinal) stress, psi 

6n = interference required between cylinder, n, and cylinder, n + 1, inches 

6 12 = interference required between the liner, segm.ents, and cylinder, 3, of the ring-
segm.ent and ring-fluid- segm.ent containers, inches 


